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Date Class

Mame

Jncoming Gr. T Summer Prcked

1. To which sat or sets below does the

numbear --87- belong?

Rational Numbers

Intagars

Whale Mumbars

whale numbers enly

raticnal numbers only
integers and rational numbers only

whole numbaers, infegers, and rational

numbers

2. Which of the fellowing paints is graphed
atthe opposits of -4 on the number lina

OO0 ® »

below?
A B c )
—-4-3-2-1 0 1 i 3 4
A A c C
B B DD

3. Jamal plotiad points on a number fine at
tha four values below,

1 5
0.27, e 1.1, 3
Which of these values is farthest from
2aro? .
A 027 cC 11
1 5
B y D 3

4. Harrlet racorded outdcor temperatures as
~7°C, =2°C, and 1°C. Which of the
following correctly compares the three
temperatures?

A -T<tc-2 C -2<1<-7

B 1<-2<-7 D -7<-2<1

5. Which of the following is equivalent to the
expression below?

-2.)(2

g 4
2.3 2.4
Agte 0.9'3
3 2 5 4
B %*% 743

8. What s the graatest comifion factor of 12
and 487 :
A 12 C 36

B 24 D 48
7. What is the least common multiple of &
-and 127
A 24 C 38
B 30 D 80
8. Abby iz making frozen popsicles using
5%— cups of fruit juice and 1%cups of
water, Abby mixes the fruit juice and

watar togather. She will then pour the
mixture into popsicle molds. Each mold

will hold -;- cup. How many popsicles can
Abby maka? '
A7 ' c 20

B 15 D 24

9. Zoe is making a quitt using 15 red
squares and 30 green squares. YWhich
combination shows the same ratio of red
squares to green squares?

A 3red squares to B green squares
B 6 rad squares o 3 green squares
€ 5 red squares to 12 green squarss
D 12 red squares fo 5 green squarss
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10. Last y2ar, a local amusament park

1.

12,

13

14.

15.

receivad 286,758 visitors. It was opan
every day of the year except 7 holidays.
What was tha average number of visitors
to the park per day?
A 788 visitors C 0957 visHors
B 801 visitoars D 1,204 visitors
Dennis ran a mila in 593.7 seconds.
Martina ran a mile in §73.36 saconds.
What was the diffierence in their running
timas?
A 514s C 20.34s
B 691s D 2501s

In Ellen's math class, thers are 2 boys for
avary 3 girls. Which of the following could
be the ratio of boys to gids in tha class?

17 7
alT) C 3
14 11
B 51 D 37

Seth bought 2 12-ouncs jar of peanut
butter for §3.60. What is the unit price?

A §G.03/0z C 3$3.00/0z
B $0.30/0z D $3.03/0z
What parcant of the rectangle beiow is
shadad?

A 20% C 40%
B 30% D 80%

Yvetta measured the length of her
driveway to be 5 meters long. Which of
thase is an equivalent measurement?

A 007 mi C 16.4ft
B 15.5yd D 585in.

15. Jason's budgsatis shown in the circle
graph balaow. His total monthty budget is
$3,000. How much does Jason spend on
groceries?

Savings
30%

Croceries
25%

A §25 C $450
B §t&0 D $750

17. Mary bought 10 quarts of juice at the
grocery. How many gallons of juice did

she.buy?
A 1.4gal C 3.5ga
B 25g3l D 4.5gal

18. On a cerfain map, 3 inchas raprasants
15 miies, Briarwood and Middletown are
S inches apart on the map. What is the
actual distanca betwean Briarweod and
Middlatawn?
A 25 mi C 50mi
B 3Cmi D 7omi

Usa the grapn foyr19~20.

150

-
Lo
o

Distance {mi)

Tima (h)
18. What are the coordinates of point P?
A (4,3 C (4, 90)
B (4, 30) D* (40, 50)

Crgiral cantant Capyright € by Houghio Mifffin Hargourt, Addltions and charges to the ariginal content ara iha responaibifity of the instructor,




MName

Date Class

Placement Test

20. What is the independent variabla?
A Bike A C time
B Bike B D distance

Use the table for 2122,
Machine Rental Chargss

T o
Tharge, y(51.0| 51 | 85 | 119

21. Which equation expresses y in terms of x?
A y=17x C x=51
B y=25x D x=85y

22. What is the charge for ranting a
machine for 3.5 hours?

A $51.50 C $65.50
B $588.80 D 38850
23. YWhat are all the factors of 15?
A 1,35 '
B 1,35 10
C 1,235 10
D 1,3515
24, \What is the value of the expression below?

675 -(15-12)°+ 3
A 216 C 666
B 224 D 678

25, On a farm, there are ¢ cows and 15
sheap. Thare are 4 more sheep than
cows. Which equation represents the
situation? ‘

A c=15+4
B c=15~4
C c=4-15
D c=4x15
26, Write an algebraic expression for the
phrase below.

8 more than three times a number n
A 3+8n C 3n-8
B 81-3 D 3n+8

27. Which of the following expressions Is
equivalent to the expression below?

42x + 11 - x)
A 8x+ 11 C 2x-11
B x+22 D 4x+44

28. A triangle has an area of 369.25 square

inches. The height of tha friangle is 42.2
inches. What is the length of the base of

the triangle?
A 17.5in C 42.7in
B 35in D 56in.

29, A parallelogram has a base of 8

centimeters and a height of

21 centimetars. What is the area cf the
parallelogram?

A 30 cm? C 189 em?

B 94.5ecm’ D 567 em?

30. A rectangular prism has a volume of

285.6 cubic feet, The prism is
12 feet Jong and 3.4 feet wide. What is

the height of the prism?

AT C 191

B 15ft D 221

31. Which inequality is shown on the number
fine below?
5 o 5
A p<-3 C p>-3
B p<-3 D p=-3

32, Mariah bought a shirt for $28.50 and a
belt. The total costwas $45.50. Which
of the following equations can be used
to find the cost of the belt?

A 28.50 + b=45.50
B 4550 + b=28.50
C b=2850-4550
D b=2850x45.50

t
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33. What is the distance betwaen points A
and B on the grid?

24 o
; AfL5,. 5)
b j
X
=3 ol i
~ !
b [.i3. 311 '5"'7"'3'?5)
mw‘.,__i____T__Z_'ﬁL.,._i‘___i
A 3units C 5 units
B 4.5 units D 5.5 units

34, Charlene is wrapping the box below, How
much wrapping paper will she need?

12in,
: _ ‘ 3in
Ll AT
{ T f0in
A 185in® C 480in°
B 372in D 553in®
35. A shipping container in the shape of a

rectangular prism is 80 feet long, 45-;—
foat wide, and 14 feet tall. What is the
volume of the shipping container?

A 2,400 C 382208
B 27301t D 78,440 f
36, What is the area of the polygon shown
helow?
20 mm
» ;
E
14 mm !
: e
26 mm
A 322 mm? C 520 mm2
B 364 mm* D 584 mm?®

37. What is the median of the data
represented in the box plot below?

A 15 -C 35
B 25 O 45

38. What is the mode of the data represented
in the dot plot below?

Y Y Y
—-—Toae
N-e0ase
W-ae

AGC :
B 1 D3

39. Lisa read 45 pages on Sunday, 15 pages
on Menday, and 19 pages on Tuesday,
Which of the following is closest to the
mean number of pages she read over the
thrae-day period?
A 19 pages

LY
[ ]

C 27 pages
B 21 pages D 35 pages
40, The histogram below shows the number
of hours per year studants in Mr.
Hopper's class do volunteer work. How

many students do volunteer work
batween 21 and 30 hours per year?

]
o \:P N

C 4 students
15 & students

A 2 students
B 3 students
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